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Labour Productivity (Y/L) slowdown: U.S. (left) and Australia
(right)
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Two episodes in U.S. Inflation: Oil crises 1974 and 1979. Volcker
disinflation, early 1980s.
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IS-MP-PC: Two Applications
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I Just a reduction in the rate of money growth may not slow

inflation immediately.

Thus, the real interest rate must increase to induce a recession.
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I the IS curve via the investment demand response:
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πt = πt−1 + γ(Yt − Ȳt) + ρt

This shows that in order to reduce inflation, actual output must
be reduced below potential temporarily, all else constant.
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Y

IS shifts left, MP shifts down. Why?
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π

Y

What happened to PC or AS? How?



Application 1

Checkpoint!
In a nutshell, what we just said using the IS-PC-MP to interpret the
Volcker disinflation effect:

MP: ↑ it =⇒↑ rt

IS: ↑ rt =⇒↓ Ỹt

PC: ↓ Ỹt =⇒↓ ∆πt
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So a Volcker-style disinflation policy can
keep the real interest rate high
Lower the inflation rate

I Tradeoff:
F create the cost of a slumping economy
F High unemployment (recall Okun’s law?) and lost output
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The IS-PC-MP diagrams display a static snapshot of the
dynamic short run economy.
We can try to visualise how our Volcker disinflation policy and
resulting economic outcomes look like dynamically.

I use a stylised time path diagram ...
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Explain the IS-PC-MP story told through the figure above in words.

Detail how the policy began and how it transmits to inflation
through the MP, IS and PC curves.
What happened to actual output and unemployment during the
disinflation policy window?
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What led to high inflation despite unemployment (output) being
high (low relative to potential) in the 1970s?
Why did policymakers in the 1970s fail to exploit/utilize the
Phillips curve trade-off?
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prices. Structural changes in labor markets and pricing
regulations.

2 Monetary policy was too loose.
3 Monetary policymakers did not have perfect information.



Application 2
1970s Stagflation

Inflation rose in the 1970s due to three major culprits:
1 OPEC coordinated oil price increases. Shortage of food, high

prices. Structural changes in labor markets and pricing
regulations.

2 Monetary policy was too loose.
3 Monetary policymakers did not have perfect information.



Application 2
1970s Stagflation

Inflation rose in the 1970s due to three major culprits:
1 OPEC coordinated oil price increases. Shortage of food, high

prices. Structural changes in labor markets and pricing
regulations.

2 Monetary policy was too loose.
3 Monetary policymakers did not have perfect information.



Application 2
1970s High Inflation: Reason 1

Focus on OPEC coordinated oil price increases ...
I Oil shock, ρ, as shown in the model for PC
I in our PC model, this shifts the (equivalent) AS vertically

upward in (Y, π)-space.
F recall previous lecture on PC!



Application 2
1970s High Inflation: Reason 1

Focus on OPEC coordinated oil price increases ...
I Oil shock, ρ, as shown in the model for PC
I in our PC model, this shifts the (equivalent) AS vertically

upward in (Y, π)-space.
F recall previous lecture on PC!



Application 2
1970s High Inflation: Reason 1

Focus on OPEC coordinated oil price increases ...
I Oil shock, ρ, as shown in the model for PC
I in our PC model, this shifts the (equivalent) AS vertically

upward in (Y, π)-space.
F recall previous lecture on PC!



Application 2
1970s High Inflation: Reason 1

Focus on OPEC coordinated oil price increases ...
I Oil shock, ρ, as shown in the model for PC
I in our PC model, this shifts the (equivalent) AS vertically

upward in (Y, π)-space.
F recall previous lecture on PC!



Application 2
1970s High Inflation: Reason 2

Monetary policy was too loose.
I The conventional wisdom then was that reducing inflation

required permanent increases in employment.
I In reality, disinflation requires only a temporary recession.
I in our MP model, the MP curve was set too low.



Application 2
1970s High Inflation: Reason 2

Monetary policy was too loose.
I The conventional wisdom then was that reducing inflation

required permanent increases in employment.
I In reality, disinflation requires only a temporary recession.
I in our MP model, the MP curve was set too low.



Application 2
1970s High Inflation: Reason 2

Monetary policy was too loose.
I The conventional wisdom then was that reducing inflation

required permanent increases in employment.
I In reality, disinflation requires only a temporary recession.
I in our MP model, the MP curve was set too low.



Application 2
1970s High Inflation: Reason 2

Monetary policy was too loose.
I The conventional wisdom then was that reducing inflation

required permanent increases in employment.
I In reality, disinflation requires only a temporary recession.
I in our MP model, the MP curve was set too low.



Application 2
1970s High Inflation: Reason 3

Monetary policymakers did not have perfect information.
I Thought the productivity slowdown was a recession

F It was actually a change in potential output.
I The Fed lowered interest rates in response to what they

perceived was a demand shock.
F Which increased output above potential, generating more

inflation. Why? (See AS!)
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Explain the 1970s stagflation story and its resulting loose monetary
policy response using the IS-PC-MP framework.

Draw relevant changes in the IS-MP diagram in (Y, r)-space.
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Application 2
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Application 2
1970s stagflation: how this affects inflation (AS or PC)
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I the consequences of monetary policy, and,
I shocks to the economy for short-run output.
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reduction in output
3 The fact that the productivity slowdown was initially interpreted

as a recession
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